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Math 250  Newton’s Method Graphing Calculator Skills
Skill I. Calculate something with variable x and store the calculated result in x, replacing the original value of x
— Step 1: Store the value 2 in the memory location called x.
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Step 3: Confirm that the value in x is 6. G
Skill IT. Do Skill T repeatedly.
Step 1: Store the value 2 in the memory location called x.
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Step 3: Repeat the calculation by pressing Enter. ' J

Each time we press Enter, the previous result is multiplied by 3 and stored in the same location.



Skill III. Evaluate a function value using the Y-VARS menu and memory storage locations.

~ Step 0: Clear all functions from the Y= menu. LY
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Step 1: Type in the function y = 2x + 3. L—n—

Step 2: Exit the Y= menu and return to the calculating screen.

Step 3: Store the value 5 in the memory location x. l—]

Step 4: Evaluate the function y = 2x + 3 forx = 5. LA
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Confirm that 5 is still stored in x and y = 2x + 3 is still in the Y= menu.
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Step 1: Evaluate y(x) for x=5 and store the result in x.
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Step 2: Repeat this calculation by pressing Enter.

Y CRI#E
13
Vi CKIR
29
M CRIR
) = :
ENTER | | ENTER B

The first time, we find y(13)=2(13)~3=29. The next it’s v(29)=2(29)-3=61.



Skill V. Use the GC to calculate seven iterations of Newton’s Method to find an approximate zero of
f(x) = x? = 3. Use x = 2 as the initial guess.

‘ Step 1: Find f'(x) analytically and input f(x) and f'(x) in the Y= menu. Hint: Always put the function in Vi
and the derivative in y,.
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Step 2: Exit to calculating window and, store 2 in memory location x. This is x; = 2. o=t
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Step 3: Type Newton’s Method as a single command line, storing the result in x.

A-LOCK RCL X HE I DISTR ENTRY SOLY ENTRYSO! W
| STO) = VARS ENTER [ENTERJ

} LB LRl DISTR i ENTRYSOL § & ) [ EMTRYSOLVE
) LR VARS P JENTER | | w || ENTER

[Zaht
|2

I N RS Lie ~0L0" [
= CE A 2 D *4
‘ -
2 1 s 1

|
> ENTER |
b JENN) s> BELICY J ‘ This is x, = 1.75

H R A R | RV (0 Yz (R
1.75]|| 1.73285621

FEN ORI ORI | O O

1. 732142857 | 1.732858582

ATLCRD AR O30 | R (DY O3

‘ 1.73285821 | . T SZBS8SaS

| |

Step 4: Repeat this calculation by pressing Enter 5 times. n

These are x3 = 1.732142857, x, = 1.73205081, x5 = 1.73205081, and X = x7 = 1.732050808. We have
reached the accuracy of this calculator, and all future values will be the same.
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Check: /3 = 1.732050808
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